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1. Solve.
a. 5.6+x=4.2
b. y+134=42

c. 9.6 +z=-32

2. Solve (round to the nearest tenth if you have a decimal):

a. 24 is what percent of 607?

b. 20% of what number is 247?

c. 19% of 60 is what number?

d. What percent of 55 is 34?

e. What is 60% of 427

3. The price of gasoline rose from $1.54 to $3.85.

a. What is the percent increase?
b. If the price reverses from $3.85 to $1.54, what is the percent decrease?
4. Solve.
2 8 . x > 12 - 20
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5. The cost of 14 gallons of gas is $19.46. How much gas could you buy with $8.70? Set up equivalent ratios
to solve. '

6. Solve for the missing side lengths in the similar shapes below.

a. b.

7. On aroad map, 1 inch represents 30 miles. How many miles would 3.5 inches represent?

8. Jackie’s car gets 18 miles per gallon of gasoline. How many gallons of gas would be required for Jackie’s
car to travel 108 miles? How do you know? Explain.

9. Ceylon can swim 4 laps in 5 minutes. At that rate, how many minutes will it take her to swim 22 laps?
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1. Solve.

b, y+134=42
-4 -13.4

c. 9.6 -:—‘vz=—3.2
A\ ~+"22=17 [z2="2

e

2. Solve (round to the nearest tenth if you have a decimal):

a. 2‘4 iswhatperfen.tof60? % _ 0"1’ y [OO 3 4_00/8

b. 20% of what numgrer is 247
5x = .g'-—- x5 =

i€ '&lo 5= P, X =120
c. 19% of 60 is what number?

WO x0.14 = | 1|.4

d. What percent of 55 is 342

/%% L 65 D Lﬂl&xloo "l_l()l ?"/o’

e. What is 60% of 427

12 x 0.0 =[25.2 |

3. The price of gasoline rose from §1.54 to $3.85.

a. What is the percent increase?

|54 ¥ = ll?)D"/o Increase

b. If the pnce reverses from $3. 85 to $1 54 what is the percent decrease’

* difference
' original

285194 2.3l _ 0 L = 0% decraase.

'3.35 3.85

4. Solve.




5. The cost of 14 gallons of gas is $19.46. How much gas could you buy with $8.70? Set up equivalent ratios

to solve. ——
Hgal X - .70 = 19 4o x
ATrste_s870 ms‘—w

6. Solve for the missing side lengths in the similar shapes belo_“:. : & 18 Lfe (K i

7. On aroad map, | inch represents 30 m%s. How many miles would 3.5 inches réﬁres.én-t?

60*( din _ 39%in )xao

¥ 60 mi . X ™h = \06 M‘le5

8. Jackie’s car gets 18 miles per gallon of gasoline. How many galloné of gas would be required ,;r"or Jackie’s
car to travel 108 miles? How do you know? Explain.
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